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» L7zA2T, TDEE, r< EJ
E (RBHEE)  EROBAE LT, n— 5] =[5]
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Euclid @ 7)LT) X 4 : stEEMRITICEIT T

Eucid ®7J)LTY) X &

1: def gcd(a, b) # precondition: a >= b
2 print "G"

3 if b ==

4 return a

5: else

6 gcd(b, a % b)

7 end

8: end

gn=gcd(a,b) ZETLIEZICHAINS G D
&b abaEIDE.. (PFY, b=n)
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— 24
gcd(@% b, b% (a% b)) ZEITLIcEEICHAEIN B G DE
2+

max {gcd(d,b) EETLELEZICHATINS D}
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g = gcd(a,b) #ETLAEZICHASINS GO

= l+4+gcd(b,a%b) ZETLELEZICHAZTING G DY

— 24
gcd(@% b, b% (a% b)) ZEITLIcEEICHAEIN B G DE
2+

max {gcd(d,b) EETLELEZICHATINS D}

a'>1,b'<|b/2]
= 2+ g
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— 24
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— 24
gcd(@% b, b% (a% b)) ZEITLIcEEICHAEIN B G DE
2+

IN

{ged(d, b)) ZEFT LI EZICHEASNS G DOE )}
251 D212
= 24 gpp2) =2+ 8n/2

oFWY, EELDHFETH g1 < 2+ gnj2)
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7T R LDEFER

Euclid @7 )LV XL : SHEEMRE (2)
g = gecd(a,b) ZETLAEEZICHAIND GDH
= l+4+gcd(b,a%b) ZETLELEZICHAZTING G DY
= 2+
gcd(@% b, b% (a% b)) ZEITLIcEEICHAEIN B G DE
2+

IN

{ged(d, b)) ZEFT LI EZICHEASNS G DOE )}

a’>1 b’<Lb/2j
= 2+ 8p2) =2+ 8lnp2)

DFEY, n>10&E, E5LDHBETE g, <2+ gn2
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— 24
gcd(@% b, b% (a% b)) ZEITLIcEEICHAEIN B G DE
2+

IN

{ged(d, b)) ZEFT LI EZICHEASNS G DOE )}

>1 b’<Lb/2j
= 24 gpp2) =2+ 8n/2

DFEY, n>10&E, E5LDHBETE g, <2+ gn2

{:1 n=0D&xE
g

<2482 n21 DEE

ZIHhBESEDZHIIRE
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RERRFERE : Collatz F48

RDTIVITY) AL EEZD
1: def collatz(n)

2 print n

3 ifn % 2 ==
4. collatz(n/2)
5

6

7

else
collatz(3*n+1)
: end
8: end

INIZLEF SRV

Collatz 718 (KRFER)
FEED n I LT, collatz(n) Ehd Woh 1] Z#HAHTS

A\

n<20x2B¥ QEZFRFELVERN>TVD (Oliveira e Silva '10)
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2z EIFHAER, RBCR, BEREXRRICHSITZHE
ELLfES ZENTES

2 EIFHEEER, KBk, BRER®RICE T 2RBENLREE
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